Test # _________

IGNEOUS ROCK QUEST

Answer the following questions on the scantron sheet using a #2 pencil only! Answer questions 1 – 6 using the brightly colored side of the Igneous Rock Chart also showing pictures of the rocks.

1. Which mineral is not found in Syenite?

a. Quartz

b. Amphibole

c. Olivine

d. Plagioclase

2. Which mineral makes up most of Syenite?

a. Quartz

b. Orthoclase

c. Biotite

d. Amphibole
3. Which mineral makes up most of Dunite?

a. Olivine

b. Plagioclase

c. Amphibole

d. Quartz

4. Which mineral is barely present in Dunite?

a. Olivine

b. Pyroxene

c. Plagioclase
d. Amphibole

5. Which set of minerals shows the proper amounts for Diorite going from largest percentage to smallest percentage?
a. Amphibole, Biotite, Plagioclase, Orthoclase

b. Orthoclase, Plagioclase, Biotite, Amphibole

c. Plagioclase, Amphibole, Biotite, Orthoclase

d. Orthoclase, Biotite, Amphibole, Plagioclase
6. What is the most common mineral found on Earth?

a. Olivine

b. Pyroxene

c. Quartz

d. Orthoclase/Plagioclase Feldspar
Turn the sheet over to the pale colored graph and use it answer questions 7 – 10
7. As you look from left to right on the X axis of the chart you are going from

a. Mafic to felsic

b. Intrusive to extrusive

c. Crust to core

d. Core to crust

8. As you look from left to right on the X axis of the chart, you are going from

a. light colored minerals to dark

b. dark colored minerals to light

c. small crystals to large

d. large crystals to small

9. As you go from left to right on the X axis of the chart, you are going from

a. low to high mass and density minerals

b. high to low mass and density minerals

c. fast forming to slow forming minerals
d. slow forming to fast forming minerals

10. If you look at the top of the chart you'll see that Granite is over Rhyolite, and Diorite is over Andesite, and Gabbro is over Basalt. Why is that?

a.  One is intrusive and the other is extrusive.

b.  They have the same mineral composition.

c.  One has small crystals and the other has large.

d. All of the above

11. Which mineral listed below doesn’t belong with the others?

a. Augite – Ca(Mg,Fe,Al)(Al,Si)2O6
b. Olivine – (Mg,Fe)2SiO4
c. Feldspar – (K,Na,Ca)AlSi3O8
d. Biotite – K(Mg,Fe)3AlSi10(OH)2
      12. Why did you pick the mineral you picked in number 11?

a. It was the only dark colored mineral.


b. It was the only light colored mineral.


c. It was the only intrusive mineral.


d. It was the only extrusive mineral.

     13. All igneous rocks  


a. only form from natural material cooling.


b. only form below the surface.

c. only form slowly.

d. only formed a long time ago.
14. How are the three porphories  (basalt, rhyolite, and andesite porphyry) we looked    at, different from other igneous rocks?


a. They do not have crystals scattered at random.


b. They are extrusive but have visible crystals.


c. They can only have a smooth surface.

d. They can only be rounded.
15. What do granite, diorite, gabbro, and dunite have in common?

a. They all took a long time to form


b. They all have crystals scattered at random.


c. They all formed beneath the Earth's surface.


d. All of the above.

16. The  Iron Catastrophe gave the Earth all of the following except

a. Present tilt to the Earth's  axis


b. Magnetic field


c. The Earth's core


d. Heavy minerals at the core, light in the crust

17. The creation of the Moon gave the Earth all of the following except


a. the Earth's tilt.


b. the Earth's seasons.


c. a longer day.


d. a longer year.

18. The samples brought back from the Moon eliminated all of the old theories about the formation of the Moon because

a. there was little iron in the samples.


b. they were all younger than the Earth.


c. they were mostly made from materials light in mass.


d. they were all older than the Earth.

ESSAY - Answer the following in complete sentences. Igneous rocks are formed in one and only one way, describe that way. Wait! There are all types of different igneous rocks! Two variables control which type of rock is created.  One of the variables controls the content of the igneous rock and the second controls what the igneous rock will look like. Identify those two variables and describe how they control which type of igneous rock is created.
